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o ¥ (i) ¥ Rg (- a? - b2, 0) TR waaq g0 ¥
|—b\/a — b2 cos6 — ab| “+ A =bcos 8, B=asing,
|\[b2cos 0+a° smel [ =-ab,x,=-Jm,y1=0]

{le?-#2.0) l2-120)

P P2

bxcos0+aysin6—ab=0

B, = _ib &% - b? cose - ab| I b ya? - b% cos - ab|
lJbzcos 0+ a° sin e| [Jb"’cos 6 + a’sin’ e|
_bl|ya® -b? cos® - a| x b|ya® — b? cose + a|
(b2 cos® 8 + a? sin®6)
_ b?|(a® - b*)cos?0 - a°|
(b® cos® 8 + a® sin?6)

[-(A+ B)(A-B)= A2 - B?]
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_ b?|a® cos? 8- b? cos? 6 - & |
(b2 cos? 8 + a2 sin®6)
_b?|a® (cos?8 - 1) - b cos® 6|
(b? cos? 0 + a° sin? 6)
_ b?|-a?sin?8 - b? cos? |
(b2 cos? 8 + a%sin? 6)
_ b?|a®sin®6 + b2 cos® 6|
(b2 cos?8 + a%sin® @)
pipe = b? R R
U 24, TH AR TRFON 20— 3y + 4= 0 3R 3+ 4y - 5=0 F freh@
WA &g vdl % G g (unction/crossing) W @el & R weiwtor
6x-Ty+ 8=0 Y Prefd w8 W =[N THT H 9gN =Ear @1 ST g

(-sin®0+ cos?0=1)

= PP,

¢:1=Al=|Al)

FHIERT 9 1 FHT F FA)
B 37 U IR XAT v A g,
2x-3y+4=0 ()
am 3x+4y-5=0 ...(ii)
@ fig & fog, () 9, 2x=-4+ 3y
-4+ 3y
= X=———=
2
x &1 A G (i) F 7w, 3(121_31)+ 4y-5=0
= -12+ 9y +8y-10=0
= 17y-22=0
= y__—22.

17
W(i)ﬁy=f_3mﬁwgwmm§,

2x-3(§2)+4=0 = 2x=—4+6—6
17 17
N oy == 068+66

17
= X=—l

17

1 22

X== = e
17 Y 17

A1 AfE fig PR @ST R, 99 98 AW w9 ¥ 91 ABWR UgT wa 8l ik 98
A AR W g Il T9& deaql T ot f& & PQ N wfleRY @ s
T R
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B
7A )L Q B~

6x~7y+8=0
. N1 PQ LX< AB
. PQ® HIUIAI x AB! WAVK = — 1
= mx—[£J=-1 [‘\3'@1 6x-7y+8=03§1m—[—6—7)%]
= mx§=—1 = m=—z
7 6
PQ@ TR y — y, = m (x - %) F T ],
o 1 22 7
’ ) - —_.’_ -aal - -
ST (5 1) ( 17 17) m="%
p-Bol(nl) o My 1T
17 6 17 17 6l 17 )

6x17y-22x6=-7x17x-7
102y -132=-119x -7
119x+ 102y -132+7 =0
119x + 102y - 125=0
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